Low dose cohort
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Patient 2B2
T=NR
Ny = 8. 3x 10 ct/ml

0 14 28 42 56

Patient 2B3
T =9 days

N = 3.3x 10*ct/ml

0 14 28 42 56

Patient 2E3
T =19 days
N = 3.x 10%ct/ml
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) Patient 2E2

T = 25 days
Ny = 4.7 x 10°3ct/ml
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Patient 2E4

T =29 days

Ny = 4.7 x 10*ct/ml

0 14 28 42 56

Patient 2C1
T =16 days

Ny = 4.2x10*ct/ml
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Patient 2E1

T =22 days
Nk = 1.4x10%ct/ml
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Patient 2B1
T =11 days
Ny = 5.1x 103ct/ml
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Patient 2C5
T =18 days

Ny = 8.3x10%ct/ml
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Patient 2E5
T = > 56 days
Ny = 4.4x10%ct/ml
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Patient 2C2
T=>56 days |
Ny = 3.9x 10" ct/ml

0

14 28 42 56

Patient 2D3
T = > 56 days
Ny = 1.2x 103ct/ml

0

14 28 42 56

Patient 2D1
_ T=>0356days
Ny = 5.6 x 10%ct/m
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